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QUESTION ONE: Increase in the world price

Graph One shows the world price increasing for a product that New Zealand exports.

Graph One: The market for a New Zealand export product
- impact of an increase in world price

Price ($)
A \ S
G
Pw, 'B\ // Sw,
Pw : C ¥ ‘ Sw

Q.dl Qd 0s Qs;

Quantity

(a) (i) Complete Table One by using the labels in Graph One to identify the prices and quantities.

Table One

Before world
price increase

After world
price increase

Price NZ consumers pay

Pw

Puw'

Price NZ producers receive

Pw

Pu'

Quantity consumed by NZ consumers

Qdl

Quantity sold by NZ producers

N

Qd’
Qs

(i) Complete Table Two by using the labels in Graph One to identify the surpluses and

deadweight loss.

Taﬁle Two

Before world
price increase

After world
price increase

Consumer surplus

Al Pw

A,BPY

Producer surplus

PW!F;E

Pw',( E

Deadweight loss (if any)

——

—
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(i) Explain why the world price is a horizontal line.

The worldl pricz is a horizontal line as Nz is a price
taler, meaning we use the mbonatiol price for goodts”
Services WS is because W2 is too Smal
O o wuntry {o have an influence

0N the world gmc,e%us,wc will Sell our gads
ot the wold price od eadn and v qv&g&vﬁ
Mk Wont  dnange orice aLLordzh% {0

N2 demond %ﬁ SUppY

Refer to Graph One, Table One, and Table Two in your answer to part (b) below.

(b) Explain in detail the impacts the increase in the world price on a product that New Zealand

exports might have on the following:

New Zealand consumers

NZ concumas Will oe Woise ofr after WP intrezses r7om
Sw to Suw'. This is becauvse consomes \?urf:((-&\ will
ledse from ALl,Pwio HBP7 .Ths is becaus<
price for congumas in N2 incleasedd from P to PY e
a(Zcf@Ra’r\-? the ditrgence beteen Aot dl/gy are W»'L-t;n,/
le POﬂ(WW”U/’ they aw‘uzlz;j fz:j o taley
corsored by W2 casumes w:ll alsv’ dearcase froa
@ lo QS Mening e are IS vhik in adict
lo h. R gwplus.nf\us, as PVfCe?iVJd‘Mey(,
R quontte, deceased N2 Consumes will

be worse ofr,shotn liaj 55 o(c&fcas;yr.

( Question One (b) continues on page 4 » )
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New Zealand producers (exporters)

NZ Droduis wiloe betler ot Whin prict. narenses
(WV'\ Bw 10 &' Thie s beeanse \NZ,(;fodlLﬂS

ove oy reciuing Ane W price o P\ for #ncf Pcodm’(
\ﬂaiau e ence Whaa price Y

anll; L@ recve Ak wWhat they gkl a;:euc-
Thee duo: sdrl N2 eroA!cw Wil also inoresse,
as +he reslb nq SUplus (68204 will be expo//f~el:
—Wet€as As qu‘fbmws ¢om 05 lo OGS |, thee
MC Morc onits TN Lo el Yo oun A Surplus
Thoctore, as prie hag Vicas

has wmercaseld | profuces -SU/‘pM wvt( ercoS=
fror Pu,f L Yo PG L.

Refer to Graph One and Table Two in your answer to part (c) below.

(c) Explain the impact of the increase in the world price on the market for a product that
New Zealand exports on allocative efficiency.

At the atopnal priee of P the N2 mpnkel s RE,
and as the wor price Vereases 4o Pu, the
Mulet will skl be AE.Thig 1S becagse
tha< is o DWL ,and Surplies are moxmseol.
[he ogins in PS ductothe pree ingeese (P7p,
G.F)owe lo oftset the (osees in (S

C PI/*,PV' (O Thus, Yolal surpluses are
maxmsa( Thactere, thae i no Dwl(leses of
lucliare that & nof frovsrered Yo a hind pog Ij)

MtAning. the WL mackef is adlocak
{/t‘tc)&:Q i
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QUESTION TWO: Indirect tax

Source: Taunton, E. (2023, May 31) Here’s why your beer and wine will soon cost more. Stuff. https://iwww.stuff.co.nz/
business/132192469/heres-why-your-beer-and-wine-will-soon-cost-more

There is more than one reason for increasing the tax on alcohol. One of them is to discourage
consumption.

Graph Two shows the market for alcoholic drinks at equilibrium with equilibrium price (P,) and
quantity (Q,).

Graph Two: The market for alcoholic drinks
- impact of an indirect tax

Price ($)
12

11

10

- -

- o R e o N

¥ '
*15 2025 30 35 40 45 50 55 60 65

Q Qe
Quantity
(million drinks)
Shor
(@) A $2 per drink indirect tax is imposed on the market for alcoholic drinks.

() Complete Graph Two above by:
. adding and labelling a new curve showing the increase in indirect tax
. identifying and labelling the new equilibrium price (P,), and quantity (Q,)
. identifying and labelling the resulting shortage or surplus at the original price (P,).
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v
" Refer to the relevant figures or labels from Graph Two and the concept of market forces in your
+ answer to (ii) below.

!

1

|

(i)  Explain how equilibrium would be restored in the market for alcoholic drinks following an
increase in indirect tax.

A the ofginal price of Pe Yntre s ashoriage as ap >
6 =525 gzz% efore cosomes would biol vo the
price of alcdnal W Odke to dolainthe clcdadic
drints . price wncfeoses fiom Pe {o P
$S 10 $8) . produces of aldola Will increase
thr produmon as ik mae proritalote, fhos
nereasing QS f00m QS 1o A (220 Smi).
Consumzes @ alcchul ol decrense. their Qo
as pree (S5 QS 4 8 (ESS arrordalsle
fo pudhase alcgnal . This will decrase QD fom
Q% to @ (525%™t the new price or
;@, equilibbriom € resfored as e Sho

ad K deorcd ad. &= QD .
1 004S

(b) Using figures from Graph Two, calculate the values for the following. Circle increase or
decrease where appropriate.
SU.3

Change in consumer surplus: $ \% million  increase or decrease
¥
Change in producer surplus: $ 20.6€25 milion increase or &ecrease)

Total tax revenue: $ 0[0 million
Deadweight loss: $ IS million
4 1#4.375
! %’,&5-14%75000
» . qo
6S.625 \20 625
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Refer to Graph Two and the calculations in part (b) in your answer to (c) below.

(c) Explain the impact of the indirect tax of $2 per drink on the following in the market for alcoholic
drinks.

Consumer surplus

Tae towon dchdnal Will derease consumer gorp[vs
s s beeavst e prict cosird
oeag. fror— ¢6S fo &’K,Aceftast @ At
bion i (BUMes are wm lo pasy

or dlovel and mid YA
Quantity, o6 aleal - (g pﬂﬁn{%
1827, o~ S2S Jo 45, thik 5 €55

onis f@mgan A surples £10M . AS ol
And_ price or alcdral of has 1,
< Wil Aeercase bj FSHU.37S -

Producer surplus

Whon a §2 indweel-tex s pt on aledred, PS

Wil dewaasc - Ths is becawse e prict

prodices Yeere for alcdul has dercasest

fror §6.S 4o 6, dercasing the disfererec—

b{fwoo\ # el pfce pr;:(j(,as Are_ wic{.‘;-7

lo  yetreve_ond uhat ﬂ»ay recer < -

Qo sold tor pradoces O dlegnatAni\l decess <

77O~ S1Smi o Sl 1 less vnits Lo
/ey

n a Sundys - Hs pfice cnAl
%‘ have  deorasscd, cugall (5

will Aecrase kij 870 625 e lliug
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Allocative efficiency

When A 17 toc s (1/4 on altdral e Motk 1S

0 nage AL, TAS s because W afte

e fak , ool surpluses o€ not Maxmised -

lhis Is becaaus ﬁ/),é s 1N Qove imen
euenue %%Cf"“m&? n Qoéﬁsa ?hc (esses
I (S and. PS dutie Yhe tat . Theps
/CQLV@f) a resylting DOWL OoFf IS M.l .
As {elal Surplis avdror vakimised, and Hacre
S A Dwl o 8ISwl , e Aloha!
Mauket— 1S nek HAE-
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QUESTION THREE: Maximum price control and elasticity

To help ease the impact of the cost of living crisis, the Government could impose a maximum price on
some grocery items.

Graph Three shows a maximum price control on an item with an inelastic demand.

Graph Four shows a maximum price control on an item with an elastic demand.

Graph Three: Inelastic Graph Four: Elastic

Price

($)

Price

($)

Pe Pe il e s e ,
Pmax Pmax Pmax : ’: ~— Pmax
10 : : s
N ] :
Qs QeQd Qsi Qe Qd,
Quantity Quantity

Complete Table Three by using the numbers in Graph Three and Graph Four to identify
the surpluses and deadweight loss.

@@ O

Table Three
Graph Three | Graph Four
(inelastic) (elastic)
Consumer surplus before maximum price control l | 2 6, '

Consumer surplus after maximum price control

)

6.8

Producer surplus before maximum price control

3.4,S

2,4,l0

Producer surplus after maximum price control

5

4,0

Deadweight loss (if any)

2.4

7.9
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(i) Define price elasticity of demand and explain one reason why an item might be elastic.

’P(\ce M‘ug of dgvnd s e cesporgivtness of
ood/sduicgs dewand in (elakion 1o price chwﬂes.
A &Wp({ or an elastic a&ood would
be a0 a\)ple G % 1S ot necesiHu, and
Ynfre age o0y sObgtitutes (oranﬁes,f) o) -

(b) Compare and contrast the impact the maximum price control might have on consumers,
producers, and allocative efficiency. Refer to Graph Three and Graph Four in your answer.

FOC CONOMIS 0 ool eldgfre and i glaskic. marked
Price will devense flom Pe to Pimax, mcreogf

Fne Aitf b what  conUmas arc willing to p
quJ& aml wagf M ﬂW V%M @D “naeoses

Pmﬂ%? /aygv:r In e(cgltc CJ,o ed) than

uml

the " c meyreet- C e to QD) quami ity LAl
decreace bﬁ the scume. Qtmaunst ih kboth rvu,ce,{g
ol a5 QS & the quontty suplics botn malzts will
%Ww_ less oS *leJ%mCL Sorp(s . Howepe
dve to the dope or the curves, the elaskic Motkeis
(S will ipggeasg oueml( from 17 40 3 as the gan

of 8 is proPorhomU lougr Mo the inelastic
ma Kets ‘%CA\V\ of % OV 10sS Or 2 .

For pr‘oda:e(s N both elastic end indlastic

Markels {or e, PS il decrease . s is
beccauce p?j.ce_ decreases From \36 A0 Pmoxx oA EUEBS A

e diffgance \oduetn wnat wey ace willing +o
Sell & and what MEj ackualty sell ror

( Answer space continues on page 12 » )
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Quowntbk, also ¥ fom Qe Jo S Ak Qe A0
6S' . oes: oaoaunt OF unis of g9 1D
Wil 40 d\?\m Q Sufp s for sﬁasj
Thecerore, elastic PS5 will 4 Frosv» 8.4,10% 10,

ok inelastic PS will Propor/:om!y b torm
SUSH S

Attt ﬂ\& Maximun  price oot martels Will become
ﬂO+ AE . This FgE 56 N bol-h martds
LﬂS N G UG'C not nougy

7%«; msscg in both cganoc stﬂa

sl 1N a PWL of 2u and 29. As

fotal ‘Swﬁxj? e Wb Maxmised neithe
m thasfic ol inelostic. are- nof
W& AE L The ndoshic magked 1nhos o loroer
£ DWL, and Hais 15 becouse due to Y inspsienss
g oF ?r\C.Q e (5 lost (D), & o \owoer oe
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Subject: Economics
Standard: 91399
Total score: 17
Q Grade Marker commentary
score
The candidate has correctly identified changes to CS and PS with price or
One M6 guantity and applied the definition. They showed understanding of AE being
maintained and why.
The candidate has correctly drawn their graph but has not correctly calculated
Two M5 areas of change. The market forces response mentioned all points as well as
including context and data from the graph. For PS and CS, the candidate has
covered all points but with the wrong change value.
The candidate needed to identify the mechanism behind change in quantity
Three M6 consumed for CS. A better description of AE would have resulted in an

Excellence grade






